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All question are compulsory.

SH YAUN H 30 U AR JWusl A, B.C3 D & fanforg &1 mwvs A & T uea
UAFE 1 3 BT, JUvs B A T U URAB 2 3idbl b1, Hvgs C F uig ues uds 4
3ipl BT dem Jvs D H IR U U 5 ikl BT &

This question paper consists of 30 questions divided into four Sections A, B, C and D.
Section A contains 30 questions of 1 mark each, Section B contains 10 questions of 2

marks each, Section C contains 05 questions of 4 marks each and Section D constains 4
questions of 5 marks each.
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Only sketches are to be given in the answers of construction.
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Answers of the questions must be in the context of the instructions given therein.
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Do all rough work only on the last pages of the Question-cum-Answer Booklet and nowhere
else.
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Question Nos. 1 to 30 carry 1 mark each. (Y37 A&IT 1 4 30 b YAD 1 3D BT 2 )
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Write 156 as a product of its prime factors.

(A)  2x3x3x13 (B)  22x3x13
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A (x+2)° =2x(x* 1) B ¥ —2x=(-2)(3-x)

©C)  (x=2)(x+1) = (x=1)(x+3) D) (x=3)(2x+1) = x(x+5)
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P(x)=x"=3x"+4x+5, g(x) = x> +1—x

3rerar
Brg B3 5 3 3ufRay ds=ar 2

T &5 0.2x + 03y =13,04x +0.5y = 2.3

fopat AP b1 Uerdr ue 5, 3ifdel ue 45 3T AT 400 21 Ul BF J==AT
3T AAITaT S b< |
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